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— NNR RYR 29977 19K 7915 93
And for all the others he is liable for only one nxun

OVERVIEW

The Xn>92 of 101 M states that (even) if the 770 would have written w2
mawn ¥paY (but would not have written WX 1van X7), we would have
assumed that for 9°¥p) W there is a separate 21°n for each 7989, however
concerning all the other m>x>» we would have assumed that there is only
one 2vm, even if he transgressed all of them (78 0%v2). *"wn offers' two
reasons why we do not apply here the rule of %7577 11 X¥» 5922 77w 127 9
RY 1910 99977 DY TPy KUK KXY mxy By mmbh XY mYYS. Mmoo rejects one
explanation and accepts the other.

— AUYA 099 AYIN XY HY9 1YY DT DIVN DIVIPA WY
»"wn explained, the reason we do not apply here the ruling of *maw 227 93,
is because the »%> (the generality of Wwvn X7 70X71 72) takes the form of a
mwyn K» (a prohibitive commandment — do not work), while the v2p (the

detail of mawn °¥p21 wMa) takes the form of a mwy m¥n (a proactive
commandment — you should rest).”

mooin disagrees with >"wA:
— MAWYN SWaYN 01 HYYA *25N3 593 K991 v

And this explanation is difficult; for the %%> is also written in the 7wy

"oyy At

* This translates as, ‘anything which was contained within a %3 (a general ruling) and exited this generality
to teach (us specifics about this detail of the generality), it is not only coming to teach us about itself (this
detail), but rather (any ruling which applies to this detail) applies to the entire generality.” In the case of
7781 Awon they were initially included in the 595 (general rule) of Wwyn X2 79X 95 (which includes all
the MaxYn (even 7% 7w ), then the 7730 mentioned 77°Xp1 7w (in the P10 of Mawn °Xpa1 wIn2)
specifically (it ‘exited’ the 992) to teach us that there is a separate 2vn for mw»an and a separate 21’1 by
77°%p. The ruling (of 21 7°7w 127 95) teaches that this new law (that there is an individual 2vn for 7wn
7% independently) applies to all the other N19X%» Max which are included in the 9%3; so we can know
that there should be a nxvn 21n for transgressing each 7oX7n individually (without WX 1Iyan &?). moon
discusses this issue.

? See ‘Overview’ (and footnote # 2).

* The rule of 131 127 93 (according to *"wA) is only when both the 72 and the v19 are 7wyn X9, or they are
both 7wy; but it does not apply (here) when one (the 973) is a wyn &2 (of Wyn X7 79871 73) and the other
(the vI9) is an AWV (of NMAWN ¥ WIM2).

>In ND,TY7 (NWD) MW the P09 reads; M2aWN °XP2AY WINA NIAWN YW O1°) 7AVN 2N° DWW
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form, namely nawn S¥oaw:T 219295 so both the %75 and the v are in the same form,
why do we not apply the ruling of 121927 %5 here?!

mooIn presents an additional difficulty with >"ws:
— (N2 97) 61\9‘,7 497 NP 7992 1999IRT NIN RPYT V99 DD *2)T NI

And furthermore it is only specifically regarding the ruling of a ©221%%>

5521 that the X 13 states in 'y noon -
— 0997 PYHA Y991 PNRY 1393997 N9+

That we do not interpret it as a 5751 v91 992, when the %92 is not in the

same syntax as the v9p -
— DIPN DIV INIYN KDY KON )1 N NINY 937 »2)Y HaN

However concerning the ruling of a %9577 32 XX Ky 9127 (the ruling we

are presently discussing), we do not find anywhere that the %5 and the v3
require the same syntax of 7wy or 7wyn K?.

Moo continues to refute >"wA:
— 71937 9IRT XY XN )0 T2T N

And in addition, in 'Y noon there is someone who maintains that we do

apply the rule of vI91 975 even when they are not the same syntax (and that would
certainly apply to our case of 151 5922 mnw »727). The question remains; we can derive
MAaRYn P12°m from 9952w 127 why is 17v2n XY necessary?

moon states the answer he prefers:
— NP YWIINNM 192992 XDT DIVNIPA WOV PINNK WIT2D NN

And nmo01n accepts that last interpretation which s'"w= gave, that we

cannot derive all the other 12857 from °¥p1 w>n (by way of %932 7nw 9237) -
— *AND DINAN DN YW NNT DIVN

% The xm there cites a npYomn whether it is forbidden to plow on n°y»aw. The 710 specifically prohibits
planting (and pruning as well as harvesting) but does not mention plowing. There is however a 1191 79>
5991, for the 0’09 (in 7-7,75 [172] RIpP™Y) read PIRY 7o N2 naw (a 992), then X9 RS ¥y &L 77w
3PN (the o°v71) and finally yaR? 77 Pnaw nw (the final 525). Normally we would say that just as the
a°v19 specify faming the land, so it should include all types of husbandry even plowing. However since the
2’993 are in an 7wy form (YIRS 73°7° 1naw) and the o' are in a wyn XY form (M3 v XY), we do not
consider it a 9921 vI91 Y93 to be vI®A PYD 727 but rather we consider it a v191 95 which limits the
prohibition to the v15 (meaning that there is no 7w MO°R).

7 See previous footnote # 6. This refers to the 7'» that prohibits plowing on n°y*aw for he derives this from
the aforementioned 9921 v191 993 even though they differ in syntax. See ‘Thinking it over’.

¥ There is a rule (accepted by most 0Xan) that if the 710 teaches a rule in two instances we cannot derive
any other cases from this rule (unless one is able to show a ¥m>°7% why it was necessary to teach this rule
in both cases, and if it was taught in either case we could not derive the other from it). The rationale behind
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Because 77°¢p1 7w are two verses that come to teach us the same rule.

mMooIN continues in support of this answer:’
— (3,70 PATMID) TN /T P92 1929INX R NN

And the X713 states something similar in nyns» '7 95, that -
- 919 990 Lorawann 95 Y993 Pyt N

2 and "1w7° were included in the general prohibition of 2’sw>2n, etc. -
— 4AN9 PPNAN D210 Y NPT BIN M) 75999

And the X 1) there asks, ‘let 19w7%1 238 be considered as 29827 2°31n5 1w

T1R2’; and we cannot derive all the other 2owan from "1Ww7 2IX. It is evident from that
X713 that (even) by 9952 7w 127, the limitation of 7R3 0°X277 0°21N2 "2 applies.

nvoIn asks:
— 99921 XY 929 9551 9NN ON)

And if you will say; so how can we derive from 19pan X that there is p¥>n
MoXoM, for now -
— by X995 Pavn PN P1ARS PPRAN 022N /) 1T 19V Y

Since there are three 7TnN> 7827 22> then certainly PT2b» PN
according to everyone.

mMooIn responds to an attempted solution to his question:
2915 MY YIIN NI (3,791 JOP T3 YWD 192WHTTDD RN I8P YIINT NN »9)

And if you will answer that =°x? w>n come for the w97 in the
beginning of 7' noon that just as w>n is ‘voluntary’, etc.”” so therefore

this rule (and the exception to it) is if it was the intention of the 7710 that we should derive other cases from
it, the 71710 could have written in only once; the fact that it was written twice is an indication that it applies
to these two cases only.
% The rule of X3 X7 D°N0 2 is well established; however, the issue here is whether it applies in a case
where the are part of a ; . This is whai will now establish. See . See

here the 02105 2 are part of a 5251 “nw 727. Th hat mooIn will tablish. See X"wAim. See 0"'nn
for a different explanation.
' The 770 writes (12,5 [@w17p] ®IpP™) regarding "11YT™ 2K (various types of sorcery) that their punishment
is 7p0.

1 Regarding a qwan (a sorcerer), the 770 (in 1,20 [D°wown] NMnW) writes 7NN XY 79Won, that there is a 2170
nn°n. However, it does not specify which 11 . The ere derives (from rou e rule
nn. H td t sp fy hich 1in°n 211, The X7 the d fi S1YT™ 2IX) th gh th 1

of 9932 7w 127 95 that for all types of 73 there is a 77°p0 2.
e ere answered that the who derives 79 rom maintains tha ;
12 The xm th d that the Xin who d 72°p0 27n f YT AN t that Xan 200 2
170 TR (see footnote # 8).
" The 770 taught that there is a separate 211 for 77°%p ,7w* 1 and 77v27, to the exclusion of all others.
14 See footnote # 8 & # 12. There is a minority of 2°Rin who maintain that 1°72%2 T1X> PR3 0°2105 2.
However, even they agree that 1% 7K XD PR27 P00 .
'3 Xy ' there says that mawn T°¥pa) wma teaches us to limit the prohibition for 77°%p on naw. There is
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those 0’05 are needed for another w27 and are not included in the '8> X277 %2100
(regarding maR?1 P12°1); however this is no solution, for -
— 991D ANN XY NN NIPIYN 1939 99910 *¥a 71N 999N 19 ON

If indeed this is so (that 7°Xp1 w7 are not part of the °21n> [that are not
o>7on], since they are mentioned only to permit nawa My N°xR), how
was N1 "1 able initially to derive from them n>x5» 712°1, since this is not
the specific reason they are mentioned in the 7.

MooIN answers:
— 052N /) N NIT PNYY 13529 99IN)

And the "9 answers, that they are not 'X2 2°X27 2%3102 ' -
— awya 17513 IN IXD2 11919 IN 173N N5

Since the 7710 did not write, all of them either in a 8% form or all of them
in an WY form -

VP TP 1PYITTIY YD) YN 1159 NN NIWANI NI¥2N1M 192995 99719
And therefore we derive ndxYn ?19°1 from 7wan, and now that @ n
=v2m are not needed to teach MoXon P17°n, they are available for the =7
in P'"1% N20N (regarding WA NER).

SUMMARY

We do not derive nawa mar?n P12°n though a "2y 9931 “aw 127 from  wna
7°¥P21 because they are not all either an 7wy or 7wyn X2 (according to *"wM),
or because they are 71IX2 2°X277 2°21N3 "2 (according to *"w7 and MdoIN). The
limitation of 'R2 2°8277 0°21n2 "2 is only if they are both either a n"? or an nwy.

THINKING IT OVER
moon asks on the first w17 of *"w that there is a 7" who interprets a 975

never a m1¥n to be W1, so we compare the 10X of 77°Xp to the MoK of 7w that just as 7w is always a
mwA (something which you may do, but are not required to do) similarly the 710°X of 77°¥p is only by a
77°%p of MW (the usual 77°%p), but not by a mxn 5w 771°%p such as MWwn n7°¥p; the harvesting of the barley
for the 7 7297 (which we are commanded to do), which is brought on the second day of fos. Wi n°Xp
is excluded from the 710°X of Mawn 7°¥p21 w°n2 and it is permitted even on N2Y.

'® mooin stated previously that this limitation of 23 %7212 or AwWYa 17215 applies only to a Y921 vI9Y 722
(according to one 7"n), but not to a 7732 7w 127 since we never find this mentioned in the X773, Seemingly
we do not find this limitation by X5 X271 2°2103 ('3) "2 either. However, Mo maintains that logically we
understand that the rule of 2°2105 '3 is only when 121 1872 17713, The reason of 177727 1°X "2 1 is because
the 770 should have written only one (see footnote # 8). However here we cannot ask why did the 770
write 17¥an XY since it already wrote 2°¥p2) w3, for %Py wn is only an wy and 1van X2 teaches that
(besides the 7wYy) there is also a N7 (X"w1an). See 7ama K for a different explanation.
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%921 v19) even when they are not all an 7wy or a 7wyn X7 (and certainly we
will interpret a %732 7°7w 927 in this manner)."” This same question can
asked as well on the second ¥v17°® of "W (that it is 21 2°2102 '2), which
nvoIN accepts, that regarding 0°2102 "2 also, there is a 7" who maintains that
D'IN3 '2 are PIRYH,'* so what has Mmoo gained by choosing the second
W

17 See footnote # 7.
18 See footnote # 14.
1 See oK 1.
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